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1. If 𝛼 and 𝛽 be the roots of the equation 𝑥2 +𝑥 𝛼 +𝛽 = 0, then

a) 𝛼 = 1 and 𝛽 = ―1 b)𝛼 = 1 and 𝛽 = ―2

c) 𝛼 = 2 and 𝛽 = 1 d)𝛼 = 2 and 𝛽 = ―2

2. The number of real roots of the equation (𝑥 ― 1)2 + (𝑥 ― 2)2 + (𝑥 ― 3)2 = 0 is

a) 1 b)2 c) 3 d)None of these

3. If 𝑧( ≠ ―1) is a complex number such that 
𝑧 ― 1𝑧 + 1

 is purely imaginary, then |𝑧| =

a) 1 b)2 c) 3 d)5

4. If 𝑧,, 𝑧2 and 𝑧3 are any three complex numbers, then the fourth vertex of the parallelogram 

whose three vertices are 𝑧1, 𝑧2 and 𝑧3 taken in order is

a) 𝑧1 ― 𝑧2 + 𝑧3 b)𝑧1 + 𝑧2 + 𝑧3 c)
1

3
(𝑧1 ― 𝑧2 + 𝑧3) d)

1

3
(𝑧1 + 𝑧2 ― 𝑧3)

5. If 𝑧 is a complex number such that Re (𝑧) = Im (𝑧), then

a) Re (𝑧2) = 0 b) Im (𝑧2) = 0 c) Re (𝑧2) = Im (𝑧2) d)Re (𝑧2) = ― Im (z2)

6. ―1 ― 1 ― 1 ― ...∞  is equal to

a) 1 b) ―1 c) 𝜔2 d) ―𝜔
7. Let 𝑎 be a complex number such that |𝑎| < 1 and 𝓏1, 𝓏2,… be vertices of a polygon such that 𝓏𝑘
= 1 + 𝑎 + 𝑎2 +... + 𝑎𝑘―1. Then the vertices of the polygon lie within a circle is

a) |𝓏 ― 𝑎| = 𝑎 b) |𝓏 ― 1

1 ― 𝑎| = |1 ― 𝑎|

c) |𝓏 ― 1

1 ― 𝑎| =
1

|1 ― 𝑎|
d) |𝓏 ― (1 ― 𝑎)| = |1 ― 𝑎|

8. If 𝛼, 𝛽, 𝛾 are the roots of the equation 𝑥3 ―7𝑥 + 7 = 0, then 
1𝛼4 +

1𝛽4 +
1𝛾4 is

a) 7/3 b)3/7 c) 4/7 d)7/4

9. If sin𝜃 + cos𝜃 = ℎ, then the quadratic equation having sin𝜃 and cos𝜃 as its roots, is

a) 𝑥2 ―ℎ𝑥 + (ℎ2 ― 1) = 0 b)2𝑥2 ―2ℎ𝑥 + (ℎ2 ― 1) = 0

c) 𝑥2 ―ℎ𝑥 + 2(ℎ2 ― 1) = 0 d)𝑥2 ―2ℎ𝑥 + (ℎ2 ― 1) = 0
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10. If 𝛼 𝑎𝑛𝑑 𝛽 are the roots of the equation 𝑎𝑥2 +𝑏𝑥 + 𝑐 = 0, (𝑐 ≠ 0), then the equation whose roots 

are 
1𝑎𝛼 + 𝑏 and 

1𝑎𝛽 + 𝑏 is

a) 𝑎𝑐𝑥2 ―𝑏𝑥 + 1 = 0 b)𝑥2 ―𝑎𝑐𝑥 + 𝑏𝑐 + 1 = 0

c) 𝑎𝑐𝑥2 +𝑏𝑥 ― 1 = 0 d)𝑥2 +𝑎𝑐𝑥 ― 𝑏𝑐 + 11 = 0

11. The value of 𝑖 is
a) 1 ― 𝑖 b)1 + 𝑖 c) 𝑖 ― 1 d) ±

1

2
(1 + 𝑖)

12. If one root of the quadratic equation 𝑎𝑥2 +𝑏𝑥 + 𝑐 = 0 is equal to 𝑛th power of the other root, 

then the value of (𝑎𝑐𝑛)1/(𝑛+1)
+ (𝑎𝑛𝑐)1/(𝑛+1)

 is equal to

a) 𝑏 b) ―𝑏 c)
1𝑏𝑛+1 d) ― 1𝑏𝑛+1

13. The modulus of the complex number 𝑧 such that |𝑧 + 3 ― 𝑖| = 1 and arg(𝑧) = 𝜋 is equal to

a) 1 b)2 c) 9 d)3

14. The product of cube roots of -1 is equal to

a) -1 b)0 c) -2 d)4

15. If the roots of 𝑥3 ―3𝑥2 ―6𝑥 + 8 = 0 are in arithmetic progression, then the roots of the equation 

are

a) 3, 4, 5 b)4, 7, 10 c) -2, 1, 4 d)1, 4, 7

16. The number of values of a for which (𝑎2 ― 3𝑎 + 2)𝑥2 + (𝑎2 ― 5𝑎 + 6)𝑥 + 𝑎2 ―4 = 0 is an 

identity in 𝑥, is
a) 0 b)2 c) 1 d)3

17. If 𝑧1,𝑧2,𝑧3 are vertices of an equilateral triangle inscribed in the circle |𝑧| = 2 and if 𝑧1 = 1 + 𝑖 3

, then

a) 𝑧1 = ―2,𝑧3 = 1 ― 𝑖 3

b)𝑧2 = 2,𝑧3 = 1 ― 𝑖 3

c) 𝑧2 = ―2,𝑧3 = ―1 ― 𝑖 3

d)𝑧2 = 1 ― 𝑖 3,𝑧3 = ―1 ― 𝑖 3

18. The solution set of the inequation 
𝑥2 ― 3𝑥 + 4𝑥 + 1

> ,𝑥 ∈ 𝑅, is
a) (3,∞) b)( ― 1, 1) ∪ (3,∞) c) [ ―1, 1] ∪ [3,∞) d)None of these

19. The number of real solutions of the equation ( 9

10
)𝑥 = ―3 + 𝑥 ― 𝑥2 is

a) None b)One c) Two d)More than two

20. The quadratic equation whose roots are three times the roots of 3𝑎𝑥2 +3𝑏𝑥 + 𝑐 = 0 is

a) 𝑎𝑥2 +3𝑏𝑥 + 3𝑐 = 0 b)𝑎𝑥2 +3𝑏𝑥 + 𝑐 = 0 c) 9𝑎𝑥2 +9𝑏𝑥 + 𝑐 = 0 d)𝑎𝑥2 +𝑏𝑥 + 3𝑐 = 0
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